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*Tsn, Tsdn. Jsn. Tin. Tidn. JinOnIEFRZFTY .
*Ts. Tsd. Js(IZEDEZIELET,
*Ti, Tid. JilZ& 71T LOEZIBLET .

& DB <AXIS1 TOTAL> &
ABBEIMY: TL=81T NI 0.0662 [N-m]
ABRINY: TLd=3R2EEBURVETR NLIOFRA 0.0546 [N-m]
ABFEIEHE- UM IL=BFESHE- X B 0.275 *10™ *[kg-m?]
ABTRSENE @ UL 10.000 [mm/r]

g Motor

§F F-nnuminsig

& BB &
B 1=
[(R—Lal] (HIEIXISR)
RUBERE: D 0.020000 [m] (20.00 [mm])
RURZ: L 0.150000 [m] (150.00 [mm])
ROYU—R : Pb 10.00 [mm/r]
RUMBZE : p 7.90 *10°3[kg/m?]
RUAE : n 1 [A]
$HE 1 n 0.90
J—HE8 : ml 3.500 [kg]
BENEPOEBURE : 1 0.050
90 Fa 0.000 [N]
HhI>A—=J14 bk 1 m2 0.000 [kg]
ERAE @ a 90.0 [deg]

FEFYNEBEE{REL : u0 0.300
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CERMNV GIEREEZEEBELRVED) FHEO
/5 EFETE : F = Fa+(m1-m2)*g*(sina+u*cosa)
= 34.3245 [N]
Tid1l = (F*Pb)/(2*n)
= 0.0546 [N-m]
OamNY SHEO
FIERIE : FO = F/3
Til = Tid1/n+(uO*FO*Pb)/(2*n)
= 0.0662 [N-m]
OBERIEYE- XN SEO
mO = n/4*p*L*D?
= 0.372 [kq]
Ji1 = (1/8*m0*D?*n)+((m1+m2)*(Pb/(2n))?)
= 0.275 *10~ *[kg-m?]

*E—F—-DIERK &

[AZM46MC+AZD-AD] (angseh)
O—#me%y : ZR 50 [#]
IEREE : PO 1000 [p/r]
BEAZTvTH : Osm 0.36 [°] (360/P0)
ROELE ;i 1.00
O-91EH4E-Auh @ JO 0.0550 *10~ “[kg-m?]
ERIBIEMEET-XUb 1 J1 0.0160 *10~ “[kg-m?]
FYEMEE-UL : 12 0.0000 *10~*[kg-m?]
feENLY : Ts 0.3340 [N-m]
EELNLY : Tm 0.3336 [N-m]
RENLY - Tb 0.1500 [N-m]
VBBV
BE= L 20.000 [mm]
FEBNBERI : t0 1.000 [s]
DRSS ; t1 0.100 [s]
B IRE : f1 500 [Hz]
EELRE Vv 21.6667 [mm/s]



OBENILAE : A FTEO  XEBIDUINRVSSRERFOBESIERENECFT

A = L/UL*PO*i
= 2000.0 [pulse]
OBELREIREORE : f2 58O
f2 = (A-f1*t1)/(t0-t1)
= 2167 [Hz]
OF VEhEEnRE : NG 5t8O
NG = NM/i
= 130.0000 [r/min]
O-FEHOEHERE : NM 5HEO
NM = f2/P0*60
= 130.0000 [r/min]
OCEIRFILENLY : Ta0 T8O
Ta0 = ((J0+J1+32)*i2+IL)*n*(8sm/180) % *ZR/i*f1 2
= 0.0054 [N-m]
OEFFVHENLY : TLO FTEO
TLO = TL+Ta0
= 0.0716 [N-m]
OEERRFNIRMLVY @ Tal 5TEO
Tal = ((JO+J1+32)*i%+IL)*n*(6sm/(i*180))*(f2-f1)/t1
= 0.0036 [N-m]
OB ENVY : TL1 STEO
TL1 = TL+Tal
= 0.0698 [N-m]
OfcELZEX : S1 58O
S1 = Ts/TLO
= 4.67 EEQEHR2{FEUE : OK
OBEFZER : 52 51EO
S2 = Tm/TL1
= 4.78 - EEOBER2ELL : OK
ORBITEEE : S3 58O
S3 = Tb/TLd
= 2.75 EEQEHR2EUE : OK
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OAF—3vkt 1 B EHEO
B = (JL/i*+J1)/30
= 5.29 -EEDHRI0EUT : OK
OPIEIERL— b : TR 5HEO
TR = t1/(f2-f1)*10°
= 60.000 [ms/kHz]






